Estr.8in 2

¥ Izrazi v izbranih merskih enotabh.

8 km = 90 mMm =

20cm = mm 2000 cm =

14 dm = cm 16 km =

400 mm =
25000 m =
70dm =

¥ |zrazi v izbranih merskih enotah. 9700 m = km m
302 mm = cm mm
4dm8cm= cm 265cm=__ dm cm
2km80m= m

11cmlmm= mm 30km20m =
5005 m = km m

4km5m= m




lzrazi v izbranih merskih enotah.

4 he = 4 300 de = £ 53¢= de

718 = de 4500¢ = he 20002 = he
583dt= de 52d¢=_ £  de 10¢7de= de
6ht80¢L= £ 830¢=__ ht £ 302¢8=_ he ¢

-_\

lzrazi v izbranih merskih enotah.

4t= kg 31000 kg = 3
750 dag = g 740 g = dag
91 kg = dag 600 dag = kg

35dag = g 1000 g = dag

10000 kg = t
50t= kg

820g= dag

1020 g = dag

lzrazi v izbranih merskih enotah.

9 kg 10 dag = dag 45g = dag g
3t20kg= kg 7080 kg = t kg
13dagdg= g 230 dag = kg dag




